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1) 31 WheReh Arde, 18 | 1773 JUSi [FATS HaeT HTER el

) AT WTIAT $3C SISAT hI-T=AT WRMEATER AT HEA0TATS! Shvard 3TTeil.
e fam stresaT.

EpIR)
1) Weh 2) eh
3) 37 3TfOT & 4) HIEET ATer

a) The Regulating Act introduced by Frederick North, on 18 May 1773.
b) It was established for Parliamentary control over the administration of the East India

Company.

Identify correct statements.

Options

1) only a 2) only b
3) aand b 4) none

2)  WTAHTHUh ST [ I 1793 =T IS hITAR Jardd 3e?
37) THUHIAT TS TOTET 20 TEATST TAHTRT e,
) o o T F.
&) EFT Hee 0T AT wHar= Ja- SiCHiear Weedd w9,
3) FHER TT-UhT TR TS HiToo FeT 2vgr T18 hol.
1) 31, 3T & 2) A, T AMT T
3) 31 3NfoT § 4) ¥ anfor &
Which of the following statement(s) is/are correct related to the Charter Act of 1793?
a) Renewed the Charter of the Company for 20 more years.

b) Regulated the finances of the Company.

c) Lay down that the salaries of the Board of Control and their staffs were to be paid from
the British revenues.

d) Prohibited the Commander-in-Chief from being a member of the Governor General's

Council.
1) a, b and ¢ 2) a, b and d
3) aand b 4) b and ¢

3)  ToIfCerHT WTost g hovedT [SHhIvIT STTo SIS hy IATI Thosl. Al AT HIGHATIAR BT,
1) AT, di, TG, I 2) HSE, A, YR, Thvehal
3) IR, AT, S, Hosdhdl 4) A, ST, HehdT, §ag
The British established their trading centers at the places mentioned below, place in

chronological order
1) Calcutta, Bombay, Madras, Surat 2) Bombay, Madras, Surat, Calcutta
3) Surat, Madras, Bombay, Calcutta 4) Surat, Madras, Calcutta, Mumbai
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4) 1773 AT HIIANAR, ST A9 3¢ e hUAISI et HeX Hhoh.
1) Rs. 480000 2) Rs. 400000
3) Rs. 500000 4) Rs. 300000
Under an Act of 1773, the British Parliament granted a __ loan to the East India Company.
1) Rs. 480000 2) Rs. 400000
3) Rs. 500000 4) Rs. 300000
5) Il ATHAT HARYT HIOTAT HIFAH & SATH1?
1) "R 2ATHA hlEH<T 1919 2) HIRd 2ATH [ AT 1909
3) HIRd HIhRX hrdal 1947 4) HRd HIRIX hIA<T 1935
By which Act 'Dual Government System' was introduced?
1) Goverment of India Act 1919 2) Government of India Act 1909
3) Government of India Act 1947 4) Government of India Act 1935
6) IETAT IRA TRER HEAST 1935 AT I HIOTAT FHIEAT Pe5 Tadiea wae
FHRUATA 3AT5?
1) 3 R 2) TRAT g
3) T fea—=r 4) WS I
Which communities were provided separate representation under the Government of India
Act 1935.
1) Sikh Europeans 2) Indian Christians
3) Anglo Indians 4) All of the above
7)  faum () 25 Tre 1809 it IuTfera Rt snifoT $ve Sfear Su-t aieTd savI=r a8 o

FHRIT (R) : I0TroTd RTST SHu=I=AT Jed SIedT ATHSa &5 IredrEd gid.

1) A 39T R S8l I e 3MUT R & A o I TSIh0T TR,

2) A 37fOT R Sl ¥ A2d 99T R & A & I TSIh0T Tal.

3) A IT 3 99T R T 3MTe.

4) A 3TF AR YT R I 38

Assertion (A) : On 25% April, 1809, the Treaty of Amritsar was signed between Ranjit Singh

and East India Company.

Reason (R) : Ranjit Singh wanted to increase the realm of his empire with the help of the
company

1) Both A and R is true and R is the correct explanation of A

2) Both A and R is true but R is not a correct explanation of A

3) A is true but R is false

4) A is false but R is true
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8) TRATHS YA EREAdT ShioTaT YR IR DIUUITHIR AP UId ATSI?

1) ¥Rd 2ATHT <hlI<T 1909 2) HIRd 2AET hiAT 1919

3) HIRd 2ATHT hrd<l 1935 4) HRd 2ATH hld<T 1947
Provincial autonomy in India was introduced under which Government of India act?
1) Government of India Act 1909 2) Government of India Act 1919
3) Government of India Act 1935 4) Government of India Act 1947

9) 3 JMQIARET Felg & YT AJardle! Thd MU AER P AT AqarElars fsier
IS T9Y 3TTE.
) AT I FGTEREN ST TRATAS NG-The JauTdias 2 [Hoias Serg g
T [T 3T

T
1) W 99 2) Bth &
3) Tehal ATal 4) HH A

a) The Battle of Wandiwash is a conflict between the French under Dupley, and the British
under Eyre Coote.

b) It was a decisive battle in the Anglo-French conflict in South India during the Seven
Years' War.

Identify the correct statements

Option
1) All of the above 2) Only b
3) None 4) Only a

10) 1767-1769 W TSIl STMOT §aR 370 AT Beoves Ulees R goi hivTdl dg HIeTd
SH?
1) dife=Re=T a8 2) WS AE

3) T_IZAT A8 4) ISR =T 98

Which treaty ended the First Mysore War fought between the British and Hyder Ali in 1767-
1769?

1) Treaty of Pondicherry 2) Treaty of Madras

3) Treaty of Mysore 4) Treaty of Mangalore
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11) 3 GrArE! @eTg &l I AT HISER YRl I e,

) B FeTg AT RRTS-35-dra [Wies-HaEa wosaaR ggr oo <5 gle garhier

RO gra.
Irg fa 3tieeaT.
epip)

1) WS I

3) Tehal ATer

2) %th &
4) Wh 3T

1) Battle of Plassey was fought on the banks of river Gangas.
2) This battle was the result of Nawab Siraj-ud-Daula's attack on British-held Calcutta and

the Black Hole Massacre.
Identify the correct statements.

Option
1) All of the above 2) Only b
3) None 4) Only a
12) WG ST S[eadT.
gT 1 T 2
37) Ufeey Hlesh Tos i) 39
) T FACH Tok i) TR ST AOT <7 Ales
%) R FAes T iii) Hr3e S Fol
?) g Barg iv) RRTT-32-3ra
T
3T E) E?) g
1) 1 2 3 4
2) 4 3 2 1
3) 3 4 2 1
4) 1 3 2 4
Match the following pairs
Set 1 Set 2
a) First Carnatic War i) Dupley

b) Second Carnatic War
¢) Third Carnatic War
d) Battle of Plassey

Option

a b C d
1) 1 2 3 4
2) 4 3 2 1
3) 3 4 2 1
4) 1 3 2 4

ii) Muzaffar Jung and Chanda Sahib
iii) Count de Lally
iv) Siraj-ud-Daula
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13) ST MR- FeFHaR WA Hivl TS [Hieer ez "o Ses?

1) 9= 2R 2) JEE FrE=

3) 3R & 4) Be SHEAT

Who among the following annexed Punjab as a British territory after the Second Anglo-Sikh
War?

1) Warren Hastings 2) Robert Clive

3) Eyre Coot 4) Lord Dalhousie

14) 18 =T ZdRTd YRATT TS ST TG HIhehd AT,
1) Iz BaE - TedTdl Galg - ST HHAE Fele - TRIRAT Gelg
2) TR GeTE - SRR Gels - el Bals - g = Fere
3) TRIRAT BeTS - TSRl Gels - Wl Bels - HIeNd YHHl B8
4) TRIRAT B - WAl BEE - DN AT B - Fifearzrdr Sarg
Give the correct chronology of the battles fought in India in the 18" century?
1) Battle of Vandiwash — Battle of Khardya — Battle of Koregaon Bhima — Battle of Buxar
2) Battle of Vandiwash - Battle of Buxar - Battle of Kharda - Battle of Koregaon Bhima
3) Battle of Buxar - Battle of Vandiwash - Battle of Kharda - Battle of Koregaon Bhima
4) Battle of Buxar - Battle of Khardya - Battle of Koregaon Bhima - Battle of Wandiwash

15) Hro-fHel JURTAT TS ddal STl icn?
1) e ITOT HidTdTes U IRYSET STHR JIaT.
) ST [ aRkve - 16 9% 50 A Odd dE.
%) S, AT, S 30T Hgh Widrer faar aRvg - T 50 9T Hho.
©) USTe, IAT 3NfoT A=At four uikwe - Uddr 20 AT FS.

TR fra stveaT.

g

1) Wh 3F nfoT & 2) <h & IMOT &
3) Whth & 30T § 4) %<h © 3MfOT oF

What were the major provisions of Morley-Minto reforms?

a) The size of the Legislative Councils at the Center and the Provinces increased

b) Central Legislative Council — increased from 16 to 50 members

c) Legislative Councils of Bengal, Madras, Bombay and United Provinces - 50 members each
d) Legislative Councils of Punjab, Burma and Assam - 20 members each

Identify the incorrect statements.

Option
1) Only a and b 2) Only b and ¢
3) b and d only 4) d and a only
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16) WISIGIHRT B0 AT FT FREMT ITRST A A, FHlfcsehd 0T MideqR ar &
AT SHMGRT T Shosl?

1) T S 2) ThhIZT AT
O ESIERCIEGIESD 4) FeT g

Who among the following established a factory at Sutanati and the zamindari of three
villages Sutanati, Calicut and Govindpur?

1) Francis Day 2) Francois Caron

3) Job Charnock 4) Captain Hawkins

17) 37) \RATdIS gl [Siesr YRS AgT I 9= STl
) fofezr Sve Sfear S AgrT Ul e eI Sfor hie de Sitst ®"UERr
MG I, 1640 T ITUT Thes .
%) & IR S ufRer 7 Geede gar snfor dax fafezr Rdarde W wRmTdh
YThiUh! Teh ST

T fum sTresaT.

pIp)

1) h 3F anfoT & 2) TG AT
3) 3T M7 & 4) T foT &*

a) The first British Presidency in India was established at Madras.

b) The British East India Company's Madras Presidency, also known as Madraspatnam and
Fort St. George, was established in 1640.

¢) This Presidency was the first major settlement of the Company and later became one of
the major administrative units of British India.

Identify the correct statements.

Option
1) a and b only 2) All of the above
3) a and ¢ 4) b and ¢

18) WISIAT B (1612) SUSIHT___ AT [a%eg &ar 2.
1) ST 2) GrTST
3) 9 4) e
In the Battle of Swali (1612) the British fought against .
1) Danish 2) Portuguese
3) Dutch 4) French

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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19) 9RT IXHR HIET, 1919 TE& WO U [H=RIT =,

37) IT HIFATHAT TRIIITAR Blhor@T AT (PAC) JUTIT FHR0ATT 3o,
) hald (ST Tegd I AT AT,

%) Ferd e [Auries I F=uard s,

GIAHTHUHT IO ISR 38?2
1) ®th 3T 2) ¥ M7 &
3) 37 AT & 4) 37, § 3IMOT &

Consider the following statements about the Government of India Act, 1919.

a) A Public Accounts Committee (PAC) was constituted as per the provisions of this Act
b) diarchy system was introduced at the Centre

c) Bicameral legislature was introduced at the Centre

Which of the following is correct?

1) Only a 2) b and c

3) a and ¢ 4) a, b and ¢

20) IS 1651 AH TIC SSAT HUAIGT SNGHYIG HIOTAT [SHIVT HATAR AT HREHT
FrIogTET IRATRN fSot g
1) THovehdl 2) FHIH ISR
3) RR 4) S
Mughals allowed the East India Company to set up trade and factories at which place in
Bengal in 1651?
1) Calcutta 2) Qasim Bazar
3) Singur 4) Burdwan

21) 37) FRSHAT 1906 FH UTgeATar Id= AAQR 9T AP Hehr Brel.
) 1907 =T Hics-THeT JUROM FTd JRSTATS! W TdaR TG = HR0ATd 3.
RICRERIEESCICIR

°piD)
1) 37 3nfoT & gi=r 2) ®eh &
3) th 37 4) Thel AT

a) Muslims first demanded a separate constituency in 1906.

b) Separate constituencies for Muslims were introduced under the Morley-Minto Amendment
of 1907.

Identify the correct statements.

Option
1) Both a and b 2) Only b
3) Only a 4) None

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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22) YT OT HUHI WUT Foe URe 28 I a9 9a1T 3N,
) her £ AT AT - iicrehd

) ST SXC ST HUAT - GhaR

pIp)
1) Wh 3T nfoT & ) ¥ Imfor &
3) 3T 3MMOT & 4) W A9

Correctly identify the company and the first city in which the company was established
a) Portuguese East India Company - Surat

b) French East India Company - Calicut

c) Danish East India Company - Tranquebar

Option
1) Only a and b 2) b and ¢
3) a and ¢ 4) All of the above
R3)  ARIISUHAT TeT=AT IR, ----- fafesier @i 5.
INREIRS 2) ST
EIERIEIRS 4) "R
According to the terms of the Treaty of Srirangapatnam, ----- handed over to the British.
1) Malabar 2) Kochi
3) Travancore 4) Mysore

24) I IFOHIS YRV Qe (a9 SeTd =T,
) TR IRGREE TRAF= Wmﬁ UTIRd hogTd 3T

o o

) 23 fTHER 1919 ST T FRETHT 3Mer T4l WS,

%) T HFST 1919 TH BH] AT
©) T AT 1919 URIT S&T aNi=T (1929) AT e,

D

EEIEIRCRIEEC CIEI

T

1) %h 3T 2) Bh §
3) Th 4) ®h €

Montagu Chelmsford Amendment, note the following statements.

a) It was passed to increase the participation of Indians in the Government of India.
b) On 23 December 1919, the Act received royal assent.

c) This Act came into force in 1919.

d) The Act covered ten years from 1919 to 1929.

Identify the incorrect statements.

Option
1) Only a 2) Only b
3) c only 4) d only

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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25) WRATAIS ATET TUTe! WUl oIl BTN = SATo!?

1) dig gfear stae, 1783 2) IS ST 1853

3) HIRd HIhIR hid<l, 1935 4) IRd HXhR bl 1919
Parliamentary system in India was started by which of the following Acts?

1) Pitt's India Act, 1783 2) Charter Act 1853

3) Government of India Act, 1935 4) Government of India Act, 1919

26) 3T) 1773 =T FAMHE HEEN TRATT TE-R-S-RG ItH Hev.
) ATHN Aed FRUGRITS! IR A= HRESRT URYE dIR Hol.
F) Be AR BREIST & S Ugeh ITR-R SRS Bl

I faum sfiesaT.

LpIE)

1) %k 37 ffoT & 2) WS Fq
3) 3T SOT & 4) ¥ 30T &

a) The Regulating Act of 1773 appointed the Governor-General of India
b) Created a four-member executive council to assist him.
c) Lord Warren Hastings was the first Governor General of Bengal.

Identify the correct statements.

Option
1) a and b only 2) All of the above
3) a and ¢ 4) b and ¢

27) 1833 T ATex JFN Fafdd Wione [FUH () SR .
3N YRamS YT 99=T TR HRuETEE! BT aRaren e

A e el c N . o o . 5
) AT TSR oS SISAT hUATAT URATH [T TR d1d0.

I U 3fiosaT.
1) ®th 3 2) ®h
3) 37 IOT & Sl 4) 31 Tohar 9 AT

Consider the following statement(s) relating to the Charter Act of 1833.
a) Allowed missionaries to spread Christianity in India.

b) It made the British East India Company an administrative body.
Identify the correct statements.

1) Only a 2) Only b

3) Both a and b 4) Neither a nor b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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28) 37 DTS HIAST, 1793 T HU=I=T ARATAITd=! STIRT AeheRT FITd ol
) MER-SRAY HAHT S 3o Hgra=T Te-RiaR AR,
%) IR [TRITISER HEAH TR ey g

T I 3fiesE.

pIp)

1) %<h 37 3Mfor & 2) 31 3nfor &
3) TS TG 4)  nfor &

a) The Charter Act, 1793 limited the Company's trade monopoly with India.

b) The jurisdiction of the Governor-General extended over the Governors of Bombay and
Madras.

c) Trade privileges were granted by law

Identify the correct statements.

Option
1) A and B only 2) A and C
3) All of the above 4) b and ¢

29) ) Uiy AT e 1784, T3 dayd [9eaH Ue g R Fi=AT 19 2.
) Uig Sfear sfae 1784 = =T MAFOT YUIGh il RUTIAT ool
%) foifesr TR ST PR, GRS AgSTaR qoraor HI0T 39 316d &id.
RICRERIEEEICIEIR

pIp)
1) Wh 3F nfoT & 2) TG AT
3) 37 3T & 4) § ATOT H

a) Pitt's India Act 1784, named after British Prime Minister William Pitt the Younger

b) The Pitts India Act 1784 established a dual control system

¢) The British Government could fully control the civil, military and revenue of the Company
Events in India.

Identify the correct statements.

Option
1) a and b only 2) All of the above
3) a and ¢ 4) b and ¢

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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30) Wlole STiedT bl
9T 1
3N) TS HIT 1833
) | LT 1853
%) FTE HIIT 1813

2) IS HIST 1793
oIy

a b
1) i ii
2) iv i
3) iv iii
4) i iv

c
iii
iii
ii

ii

Match the pairs below

Set 1
a) Charter Act 1833

b) Charter Act 1853
c) Charter Act 1813

d) Charter Act 1793

option

a b
1) i ii
2) iv i
3) iv iii
4) i iv

c
iii
iii
i

ii

T 2

i) §9g 3T AGRTAT TR RIaR TB-R-SRGd AIDR .
ii) MRATT ¥ AT TR SRS HE=iT aRar,
iii) TEAR-STRGAT FRATSATST 6 AT A e Hzrerd
Hy AT

iv) Tifezr Sve Sfear U=t & quTaor W R S9a.

iv

ii

iii

Set 2

i) Powers of the Governor-General extended over the Governors
of Bombay and Madras.

ii) Missionaries allowed to spread Christianity in India.

iii) The office of the Governor-General is fixed to be assisted by
6 members

iv) The British East India Company became a purely administrative

body.

d

iv
ii

i

iii

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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31) 1833 AT ATCY el dfRTS SEr

3N HUA TS IIHT 9 HI0ITd 37T,

) HYAT Ueh TITHAGT FYIT I &l

F) TMGAT TR -STRAGT HRATS @RS+ U 2T Hgth Hodrd e
v C O\ O\ hl o C

?) Ire [Ty dfesh g IRA™ R Te-R-5Ra aid

TN [T 3fresaT.

ERIp)

) ®H A, T, F 2) WS I9
3) Oh 3T, &, 4)HH T, H, S

Identify the features of the Charter Act of 1833.

a) the business activities of the company are discontinued.

b) The company had become an administrative body.

c¢) The Governor-General of Bengal was reappointed as the Governor-General of India.
d) Lord William Bentinck was the first Governor-General of India.

Identify the correct statements.

Option
1) Only a, b, c 2) All of the above
3) Only a, ¢, d 4) Only b, ¢, d

32) 31 WRA ISR HIaT 1858 &1 feifezr TRISET Her 2T Sunfe 3¢ $fear Hhu-d TRaR
3TToT gt fofesT Isacia gedidiRd hob.
) WAAgEFdR IR FAST AgAS G I [§ieel IRERST ARA AFRSHAT WRAT]
TR IOl gl Qo

TN [T 3fiosT.

pip)

1) %th A 2) Bh ¥
3) Tehal ATer 4) 37 AMOT &

a) The Government of India Act 1858 was an Act of the British Parliament which East India
Company government and territories transferred to British rule.

b) After the War of Independence, Sir Syed Ahmed Khan advised the British Government to
take Indian citizens into the administration of India.

Identify the correct statements.

Option
1) a only 2) b only
3) none 4)aand b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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33)  3T) A 1833 AT A HIIQT halhRUTAT UTohadl hed<T T TTeal T
) 1833 AT He BT HIFST SMMOT 1833 =T YRA TRHBR ISl ATIATS < AT 3.
%) IT HEATER EIC o7 T OTET 25 IYTETS! aIeavard T

e I 3fies.

pip)

1) %k 37 nfor & 2) WS 9
3) 3T SAOT & 4) ¥ IfoT &

a) The Charter Act of 1833 was seen as the culmination of the process of centralization.
b) St. Helena Act of 1833 and Government of India Act of 1833 are other names for it.
c¢) The EIC's charter was extended for another 25 years by this act.

Identify the correct statements.

Option
1) Only a and b 2) All of the above
3) a and ¢ 4) b and ¢

34) T4 (A) : 1784 4T Pitt’s India Act = fSifezT 3xe Sfeam husireaT e o IsThrT
FEATHE HRF HAT.
HROT (R) : 1784 AT Pitt’s India Act T Hic 3T SERIEIST ATTANSH HTER FIRITUT
FRUITHT RISl IR ISR TeiIel aRATIT FRUARITS! di 3T el ATardr
A TRAT TR hosl. AMeb o<l AXBIRAT a7 0T et

LpIE

1) A 3T R S8l I 3MMad 3MOT R & A I I TSIh0T 318,

2) A 37fOT R SI<T ¥ T2d 99T R & A & I TSIh0T Tal.

3) A I 38 9T R 31 3R,

4) A 3O R Sl I ATrd.

Assertion (A) : Pitt's India Act of 1784 distinguished the commercial and political functions

of the British East India Company.

Reason (R) : Pitt’s India Act of 1784 allowed the Court of Directors to manage commercial
affairs but created a new body called the Board of Control to manage political affairs. This
created a system of dual government.

Options :

1) Both A and R are true and R is the correct explanation of A

2) Both A and R are true but R is not a correct explanation of A

3) A is true but R is false

4) Both A and R are not true

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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35) 3T) THOARAT Sels Siesnrer Afaza Fe@rel gl SRl AT 9w for fgRaR got
IERERRECACR
) TRIRAT Belg gaes AT M7 HIR FHIET JT=AT Hgwh AT B! o,
) BFCX A M7 3ME AAHH AT (96 FHC) TTATT 12 APRE 1765 ST ASTEETET
da.
T) IME AH 11 &7 diF S B9 &8 9RT1aT ST,

Ty U 3fiesT.

g

1) %<h 37 3Mfor & 2) %th § 3NfoT &
3) hth & 3MOT 4) T<h 3 0T ©

a) The Battle of Buxar was very important for the British as they gained complete control
over Bengal and Bihar

b) The Battle of Buxar was fought by the combined forces of Hector Munro and Mir Qasim
c) Treaty of Allahabad dated 12 August 1765 between Hector Munro and Shah Alam II
(Mughal Emperor) .

d) Shah Alam II had to pay a fine of three lakh rupees.

Identify the correct statements.

Option
1) Only a and b 2) Only b and c
3) Only c and d 4) Only a and d

36) nﬁ%ﬁéwwmwa@aﬁuﬁaﬁmw
3n ﬂﬂ?ﬁwqﬂﬂﬁsﬂﬂﬁﬂ?& cf;lcl«/;ldci HTFe TS 9T 3.
) gRSATETST W AR I S ol
F) T ToledR Il e Fehdld SO ST AIG Thls
T) IS TRTY TRUMER IdT e Zrehald
) T YRAET YRAT FIeRIEE! T Afarer aRYeAT8! AT Huard 7.

TR far strea.

pIp)

1) %<h 37 3for & 2) %th § MOT §
3) Th & STIOT 4) %th € IMOT g

Note the following statements regarding Morley Minto Act 1909.

a) Indians were given membership in the Imperial Legislative Council for the first time.
b) Introduced separate constituency for Muslims.

c) Members can discuss the budget and move resolutions

d) Members can discuss foreign policy

e) An Indian was nominated to the Council of Secretaries of State for Indian Affairs.
Identify the incorrect statements.

Option
1) Only a and b 2) b and d only
3) b and e only 4) d and e only
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37) RAE WTdsT AT 1947 9190 IR [T 35T,
3T) AT HIFATHT 18 S5 1947 3ASH ASTRITET FHAT BT,
) TSN 3 I YA Tohal Adesed Y 3RIer =oTdrd.

1) 31 3nfor & =y 2) ®h &

3) alvel ATer 4) %k 3
Indian independence act 1947.

a) The Act received Royal Assent on 18 July 1947.

b) it also be known as the 3 June Plan or Mountbatten Plan.
Identify the correct.

1) Both a and b 2) Only b
3) None 4) Only a

38) 1935 dT MIRA MR HRIGT HoR ST degl WRATS FIETRIT hIvT &el?

1) S JFfEaT 2) I ol

3) Jie AfIeT 4) BTe HAISadeT

Who was the Viceroy of India when the Government of India Act of 1935 was passed?
1) Lord Irwin 2) Lord Linlithgow

3) Lord Willingdon 4) Lord Mountbatten

39) His-fHel RO § FRATT ASTHROMAIG HIOTAT HEw@qUl ge-al Afdare grd?
1) RART TSR HEITET AT AT HET0fT
2) 1905 T ST BIAUIT
3) s STeqT GRAH SPTHT LATIAT
4) 1857 AT 3I3TATH 3793
The Morley-Minto Reforms were a response to which significant event in Indian politics?
1) The Indian National Congress's demand for complete independence
2) The Partition of Bengal in 1905
3) The establishment of the All India Muslim League
4) The failure of the Revolt of 1857

40) 1919 AT HIEUTET Ie3T HIET AR TRAAT 0T B, Wi IRBRIAS BT &
HRAT a0 0TS o5?
1) foe anfoT A= a=e 2) TREAOT IAMOT RRIY FIER
3) ATIUTTheRT 30T qrenter 4) f2retor nfoT TR
The Act of 1919 aimed to devolve some powers to Indians. Which areas were brought under
Indian control in the provincial governments?
1) Finance and public order 2) Defense and foreign affairs

3) Judiciary and police 4) Education and health
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41) 1802 H TSN ST d8 He & ald?
1) AT TUST-TRIST TR ST 0T FRISHHE T IReTud e
2) TTET RO ARTST W2l SUSTHT SHSvaTd 3T,
3) A fAO=T SNGI-ARTST FegT=il ST hosl.
4) BT 3% Sfear Sumr anfor MRIeTH e TR HRR .
What was the significance of the Treaty of Bassein signed in 1802?
1) It established peace between the British and Marathas after the Second Anglo-Maratha
War.
2) It resulted in the annexation of Maratha territories by the British.
3) It marked the beginning of the Third Anglo-Maratha War.
4) It was a trade agreement between the East India Company and the Marathas.

42) T FA-TRIST FegHaR HIVTAT ARTST AT SUSIHT TROMOTAT Ieehies!, SATes FRIST
T THTIIOT ST 37Te5?
1) IGATT T 2) YIS ASIRTE gRT
3) HElgSIl 2 4) ST HeuTERT
Which Maratha leader surrendered to the British after the Third Anglo-Maratha War,
effectively ending Maratha independence?
1) Raghunath Rao 2) Peshwa Baji Rao II
3) Mahadji Shinde 4) Nana Fadnavis

43) TRISHITASgeT STATTT Galed (9ot HATIUIRT fsifezr oshsl TR HvT grdr?
1) IR 3R ST 2) B A
3) [ORTT-32-3raT 4) BT SHEET
Who was the British military officer known for his victory at the Battle of Assaye against
the Marathas?
1) Sir Arthur Wellesley 2) Lord Cornwallis
3) Siraj-ud-Daulah 4) Lord Dalhousie

44) TEIIZ ST SAMOT Tofear See A et It O SNA-RR o ol aNT SIe?
1) 1780-1784 2) 1769-1775
3) 1785-1789 4) 1766-1769
In which year was the Second Anglo-Mysore war fought between the Kingdom of Mysore
and the British East India Company?
1) 1780-1784 2) 1769-1775
3) 1785-1789 4) 1766-1769
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45) BT G SRATSrSAl JreATR HeTad grd?
NRREIRIE IR A RUEIRICE IR IR
3) RA TS BT 4) T NS TBIB

Henry Louis Derozio was associated with..
1) Theosophical Society
3) Indian National Congress

2) Asiatic Society.
4) Young Bengal Movement

46) WISIGUHRN SIMHTAT HIOTAT T THTSTRIATS 2T FIT GRRIETaTE Fe AT gediad
HA?
1) qi21g Fool WM 2) ASHEET &
3) ZSIT-E 4) TR =M
Which of the following Nawab of Bengal transferred the capital from Dhaka, Bangladesh to
Murshidabad?
1) Murshid Quli Khan 2) Alivardi Khan
3) Shuja-ud-Din 4) Nadir Shah
47)  Thd JSTShIATAT TE3NMHT WoTGUh! hivTST UROT HATH?
1) oY goam 2) SRfefay
3) 3T dgie 4) IEHE TS
Who among the following was inspired by the ideals of the French Revolution?
1) Tipu Sultan 2) Aurobindo
3) Annie Besant 4) Badruddin Tyabji
48) gl ISHBRMEN TG J9E Bledr- YRT IRHR HIIal, 1935 TES & [T Hiofl hes?
1) HETAT T 2) STATERATS A%
3) IRER TGS IS 4) FATYEE T
It was a new Charter of Slavery”- who gave this statement about the Government of India
Act, 1935?
1) Mahatma Gandhi 2) Jawaharlal Nehru
3) Sardar Vallabhbhai Patel 4) Subhas Chandra Bose
49) IISEEEHT T8 heal AN

1) 12 August 1764
3) 12 August 1765
When was the treaty of Allahabad signed?
1) 12 August 1764
3) 12 August 1765

2) 12 September 1764
4) 12 September 1763

2) 12 September 1764
4) 12 September 1763
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50) 1935 AT YRA WRHRAT HIFATT HIOTAT T HoR ARG ATl FHASISIIUIT L]
qTEr?
1) HORTST AT
2) T =Gra=rdar
3) CIIATHIATS! WA AASR HY
4) <hg amfoT Wi dist fadRor

Which part of the Government of India Act of 1935 was not implemented even after its

passage?

1) Federal structure

2) Provincial autonomy

3) Separate electorates for minorities

4) Power distribution between the center and provinces
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